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(MCOQ 35x1 = 35 marks)

1. The number of electrons for one coulomb of charge is

Teh Gelid 1AL & foIT Selare il Y T&IAT Bicl &

A) 6.25x10"
B) 6.25x10"
C) 6.25x10*
D) 6.25x10%
2. There are two charges +1uC and +5uC. The ratio ofithe forces acting on them

+1uC 3R+5UC & 3MAA T | 37 GLERRT hIahdlell el T 37eJurd

A) 15
B) 1:1
C) 5:1
D) 1:25
3. Three capacitors each of capacity C are added in series connection. Then the equivalent
capacitance will be _

STHALC & A HITRAHE T HHA H NS ST & | I GHAGeT FUTRT 29l

A) 8C
B) 3/C
C) C/3
D) 1/3C
4. If a'hallow spherical conductor be charged positively, then the electric potential inside it,
will be_
A) Zero
B) Positive and uniform
C) Positive and non- uniform
D) Negative and uniform



Ifg T WEel MThR dTeleh Dl TATcHD ®U U AT 63T S1am & ,d1 39 & 376 fagd fasa,
Bl

(A) T

(B) YdTcHSD IR FAH
(C) gaTeH® AR IR-FAA
(D) FAPRIcHD IR FATA

5. The V-i graph for a conductor makes an angle 6 with V-axis. Here V denotes the voltage and i denotes current.
The resistance of conductor is given by

e & oI V-1 TTH V - 34T & ATY Ueh BIVT IATT & | Tel V diecst il GTdT & 3R | fagd &
gATaT ¥ | dsarex &1 Uiy 39 yeR f&ar Srar &

A) sinf
B) cosO
C) tan®
D) cotO
6. The equation —>e = > IR is applicable to which law?

A) Kirchhoff's second law
B) Kirchhoff’s junction rule
C) Kirchhoff’s third law

D) Newton’s Law

FHUT-Ye=Y IR fra fATd W A &ar § ?
(A) TopTais &1 gavr faas

(B) TopLai®h &7 SR g
(C) frarmra /T f@ga
(D) =gea &1 agH

7. The balancing length of apotentiometer is at 120 cm. On shunting the cell with a resistance of 4

ohms, the balancingpaint shifts to a length of 60 cm. Then, find the internal resistance of the
cell.

Teh UITRAANACT HY AT ofars 120 AT W & | A & 4 A & Ufaiy § ¢ A W,

o, Tdg 60 [T hIears H geol Sl ¥ | o AT 1 AR iRy AT Hifov|
A)2 ohms
B) 5 ehms
C) 3 ohms
D) 4 ohms

8. Identify the condition under which the force acting on a charge moving through a
uniform magnetic field is maximum.

38 ffa & g HIfS s 3iadd e o« JahT &7 & AHA T el AT W
PR P arell g FTAhdA &l

A) 8 = 90°

B) 6 = 180°



C) 6 =0°

D) 6 = 360°

What torque acts on a 70 turns coil of 400 cm? area carrying a current of 20 A held
with its axis at right angles to a uniform magnetic field of 0.2 T?

400 GHI2 &l aTel 70 HIS dTel §5el W hled AT b b Pl &, foraH 20 AT URT HHBIOT

W 0.2 T Teh HAA JaehId &1 b Bl o7

A) 8 Nm
B) 4 Nm
C) 0.8 Nm
D) 56 Nm

10. A moving coil galvanometer can be converted into an ammeter by

11.

A) introducing a shunt resistance of large value in series.
B) introducing a shunt resistance of small value in parallel.
C) introducing a resistance of small value in series.

D) introducing a resistance of large value in parallel.

T HfAIThisd edaidey @ THeX # gRafda fomrar S addnd
(A)HEeT # 95 AT & T U1y & 31 aW |

(B) AR & B¢ AF & e Ufag & s T |

(C) H@ell H B¢ AT & Ufay &l I & |

(D) AR & g3 A & gfcoRIg A A5 T |

The angles of dip at the poles and the equator respectively are
gar 3R HACT W@ W AAT & PIOT FHAA: GFIAT 2

A) 30°, 60°

B) 0°, 90°

C) 45°, 90°

D) 90°,0°

12. Whenever the magnetic flux linked with an electric circuit change, an emf is

13.

induced in the circuit. This is ealled

oia ot fagd aRuy & SS1, aehrd waTg deeldl & af IRUY # U STATH URd el
TIF P ST

A) Electromagneticiinduction ﬁrg?r ﬂﬁ?ﬁm Uo7

B) Lenz’sdaw oleal &l faad

@) Hysteresis loss feeadifaa Jh &l
D) Kirchhoff’s laws foreied & fager

The peak value of the a.c. current flowing through a resistor is given by

a.c. &l RE AT Th Ui & ATCTH F dgd dlell URT fhash grT & Sl &

A) Io=eo/R
B)I=¢e/R
C) Io= eo

D) Io = R/eo

14. Energy dissipates in LCR circuit in :

A) L only



B) C only
C) R only
D) All of the above

LCR URUY & ol &7 &7 Il &
(A)hdd L

(B)dhadl C

(C)hae R

( D) 3WRh Tt

15. A transformer is employed to
A) convert A.C. into D.C.
B) convert D.C. into A.C.
C) obtain a suitable A.C. voltage
D) obtain a suitable D.C. voltage

Teh TEBER fhad fou Aaferd &2
Ayudr @ S # uRafda w¥|
B)Ere &t velr F uRafda ¥

C) T 3UYeh THT Urd &Y [alecst
D)Ush 3Ugeh ST alecst U &

16. What is the velocity of electromagnetic wave in free space?

Ah HARE # Igd JeFadhd a1 &1 9T FAT 82
A) ¢ = V(nogo)
B) ¢ = 1/\ (10€0)
C) c = 1/u0e0
D) ¢ = pogo
17. Which of the following is used to Investigate the structure of solids?
A) Gamma Rays
B) Infrared Rays
C) X-Rays
D) Cosmic Rays

o uerdf dr FxgEr a1 g & forv Aeafei@a & & feaer suaer fear srar &2
A) IWAT YOI
B) §ehRS TehYul
Q). TFE=Y
D) @ifeHD fepo

18. Thesangle of incidence corresponding to an angle of refraction 90° is called as
A) Emerging angle
B) Deviation angle

C) Particular angle
D) Critical angle

39aded 90° F PIUT & HJ&U TTAT & PIUT Bl FIT Pl SNl &7



A) faeTa @ror
B) fadei @ioT
C) T @ior
D) whifedd hroT

19.The lens formula is given by

o g gRT A Srar ®
A) 1/f=1/v+ 1u
B) 1/f = 1iv — 1/u
C)i=1/f=1lu

D) None &I$ el

20.1f the any number of thin lenses in contact of focal length 1, f2, .. then effective focal length
of their combination is given by

Ife Pl oS TH 1, TH 2, & UG H Udel ofF I P T&IT &, T e Tarsie hr
AT Bihel oidrs fohdsh gRI & 8 &2

A)1/f=1f1 +1/f2+ ...

B)f=f1+f2+...

C)f=fl—12-...
D) 1/f = 1/f1 — 1/f2 -...

21.The angle of deviation depends on the
A) Angle of refraction

B) Angle of incidence
C) Bothaandb
D) None

B) ©&aT &l HIvl
C) T 3R &t =t
D) &g &el

22. Ardoublesslit interference experiment is carried out in air and the entire arrangement is dipped in
water. The fringe width

TaT H WP 39 Fole [Aada gaier fhar Sar ® 3R gt oraifiies  cgaedr & urelr #
AT Siar &1 fher disrs

A) increases d&dl &

B) decreases Tedl &

C) remains unchanged. 3aRafdd T&dT &

D) fringe pattern disappears. st tea e & STaT %




23. The wave front due to a source situated at infinity is
A) spherical
B) cylindrical
C) planar
D) circular

37ad WX RUT @ & HRUT a9T Hl gL HaT B ?
A) TR

B) JelclhR

C) "§Add

D) gdra

24. The phenomenon of interference is based on
A) conservation of momentum.
B) conservation of energy.
C) conservation of momentum and energy.
D) quantum nature of light.

faade &1 gear w 3maRa §
A) T T TIET0T|

B) Zoil &l TX&TT|

C) vifd 3R Zar &1 &I
D) WehIl &I FdicH Uepfd |

25. The charge of a photo electron is :

Th Iel SeldreieT T 7T BT &
A)9.1x10%C
B)9.1x 10%" C
C)9.1x10%C

D) none of these 3Ta1 & IS el

26. The strength of photoelectric current depends upont:
A) angle of incident radiation
B) frequency of incident radiation
C) intensity of incident radiation
D) distance between anodeand cathode

A) geaT fafehIur & epior

B) HcaAT fafehyor I i

C) "ear fafmyondr dradr

D) Edrs 3R $HU & @ Hr gl

27. De-Broglie wavelength of a body of mass m and kinetic energy E is given by (symbols have their
usual meaninas):

SCIEEm 3R AT Foll EF T iz &1 svel aworeed frad grr & 78 &-
A) hN(2Me)
B) h/2mE
C) 2mE/Ah
D) h/mE
28. Rutherford’s experiments suggested that the size of the nucleus is about
WEIHS & TN F g &ar 6 A1fde $1 bR A9reqar §
A) 10 mto 10 m




29.

30.

31.

32.

B) 10 mto 10 m

C) 10 mto 10 m

D) 10" mto 10 m

Which of the following spectral series falls within the visible range of electromagnetic radiation?
A) Lyman series

B) Balmer series

C) Paschen series

D) Pfund series

fAefei@d & ¥ @i & aoiehella H@ern fagd JFaehy Tafepor 1 g Har &
AT 3Tl &7
A) SISHA H@ell

B) STAY HWell

C) Uradd 4@l

D) e H@ell

A radioactive nucleus emits a beta particle. The parent and daughter nuclei are
A) isotopes

B) isotones

C) isomers
D) isobars

U I3AIEt Afde T dier BuT & Scaoid AT ¢ lparent dalghter ARG 37 &
AT B?

A) 3EHET

B) 3MSHICIA

C) saEy

D) 3SR

The radius of a spherical nucleus as measured by electron scattering is 3.6 fm. What is the mass
number of the nucleus most likely to be?

Solaelid YU gRT AT 91T IMATPR ATIRD AT 3.6 fm TIATIRG T geIAT

TEIT I 31T 7 glehd GHTEaT &2
A) 27

B) 40

C) 56

D) 120

In reverse biasing:

A) large amount of current flows

B) nocurrentflows

C) potential barrier across junction increases
D) depletion laver resistance increases

R arafaor #:

A) TST AT # BHIC gdlied BT &
B) PI$ e Ydlied el aidl &

C) ST WX THTAT a14T 96 STl &
D) Pt WA U dear &



33. To obtain p-type silicon semiconductor, we need to dope pure silicon with:
A) aluminium
B) phosphorus
C) oxygen
D) germanium

p-crsu fafopla 3rdarels Urd e & o, g g Rl & a1y 3T & 6
AT HhT &

A) TogAifaTA

B) BIEHRY
C) e
D) JdfaTd

34. In semiconductor which are responsible for conduction:
A) only electron
B) electron and hole both
C) only hole
D) None of these

IqaTed A SN Tl & T SeeR §:
A) hdd Selacid

B) golagial 3R &g gt

C) dad g

D) S & P el

35. In full wave rectifier, input a.c. current has a freduengy v. The output frequency of current is :
QT 91 IFCHRR #, 3a9ge vl _Fie @ U gy Vel §IURT $r 3m3eye 3nghy F=
&7
A) VI2
B)V
C)2v

D) None 3 & & &his el
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General instructions
AT A&

(a) All questions are compulsory.

gt gt 3T &

(b) Question numbers 1 to 7 (section A) are short answer type questions;.carrying 1 marks each.

T HEAT 1 | 7(TS 3) o 30T UhR &b UA &, Tolefdt § Ucdeh & falv Teh 3eh fAUTRA B

(c) Question numbers 8 to 14 (section B) are also short.answertype questions, carrying 3 marks each.

U HEAT 8 14 (€S ) AT oY a1 YR & U4 &, [T & Ui & i 37 fauiRa 2

(d) Question numbers 15 to19 (section c) are long answer type questions, carrying 5 marks each.

T4 TEIT 159 19 (T3 T ) 19 3AUT UK. TH &, Toletdl T Ul & Ui 3 g

(e) Use of calculators is not permitted. However, you may use log tables, if necessary.

dheTperey & 3TN T AT G & | @Icilieh, TG 3maTes &, dl 3T #f9T SaeT Bl TN I Fehl B

Section.A(Students will Answer Any five questions out of seven)

1. Whatis the electrostatic potential due to an electric dipole at an equatorial point?

fagaeyg fag X faga feya & @ror [ g fawa a2 g &2

2. A cell of emf ‘E’ and internal resistance ‘r’ draws a current ‘I’. Write the relation between terminal
voltage “V’ in terms of E, [ and r.

SUATH '3 3R ARG ufoRkiy v 1 vh A T g 9RT 1 Wiadr §1 e diees V' H9Y
@ E 13N rh TN H ford|
3. Where on the surface of Earth is the angle of dip 90°?

gt f FAE W FE AAS PO 90° 2


1.30 Hrs


4. How does the power of a convex lens vary, if the incident red light is replaced by violet light?

fe 3mufad drel UhIer & Jaret gt & deo eI ST at 3o o g & i F fRg yR uRada
oI 2

5. State two characteristic properties of nuclear force.
AP Tl & a1 fAfRE o7 Fas|
6. Name the EM waves used for studying crystal structure of solids.

SIHl T TehEcel TIIAT BT eI A & o0 Ugeh EM Tl & A1 faf@m|

7. Draw the logic symbol of NOR gate.
NOR 3 &l dlifoled T&del I3y |

Section B (Students will Answer Any five questions outof seven)

TS T (O1F g & & fohedl urar Ul & 3a% &an)

8. Two point charges 20 x 10° C and -4 X 10 C are separatéd by a distance of 50 cm in air.
(i) Find the point on the line joining the charges, where the electric potential is zero.
(i) Also find the electrostatic potential energy of the system

al fd=g 3T 20x 10° CTAUT -4 X 10° Carg & 50 {1 g8 & gush L

(i) 3TARM Y T arell T W a% g _TT MfT, Sigl g fasra =g |

(ii) T &1 R dga Feufast son off ;i HfFw |

9. Draw a sketch showing the basic elements of an a.c. generator. State its principle.

e Tl & A IaTar Pl el el Tk AT IasU| FeAkeX | sHH Rgid aarsv|

10. How does the fringe . width of interference fringes change, when the whole apparatus of Young’s
experiment is kept in a liquid of refractive index 1.3?

ST AT & YA &I G 30T 1.3 HUdddh Fdhich & gd A @ SATdT &, aF cafaeor Bhat &
fhot @les fora weR aRafda st &2

11. Write the distinguishing features between a diffraction pattern due to a single slit and the interference
fringes produced in Young’s double slit experiment?

Riorer Rele & dRUT Aada deat 3R I91 & sga Roe vaeT & 3cuea e et & a1
fafre faRwansit @ ford?
12. (1) Define the term ‘threshold frequency’ as used in photoelectric effect.

(i) Plot a graph showing the variation of photoelectric current as a function of anode potential for two
light beams having the same frequency but different intensities I, and I, (11 > I,).

(i) TepTRT-TagT U # Ueh 2Aee ‘el IR &l TRATT HfST]



(ii) & TepTr Gl & FATA TghT oAfehed fFeet dlerar 1, 3R 1, (1, > 1,) & Tl 99T & o & TT A
U1l fagd 9T & uRade @l g arelm U I AT

13. Using Bohr’s postulates of the atomic model, derive the expression for radius of nth electron orbit.
URATY] HATST & g ATHURONI T YT A §U, nd el Hall dr Bsar & forw <ot
GcUed HIiST|

14. (i) With the help of circuit diagrams, distinguish between forward biasing and reverse biasing of a p-
n junction diode.

(it) Draw V-I characteristics of a p-n junction diode in

(a) forward bias,

(b) reverse bias.

(i) TRUY RGN FEIAT ¥ p-n oY SRS & JARRAS @ gur vafeiRe aaiks d a9
HifaT|

(i) p-n =T 3R™AE @1 V- AfFeIfOe 3MEa Hifae
(T) 3197 fgereh a4,

(@) uT e a4,

Section C (Students will Answer Any Three questions out of five)

e I (O Urd H ¥ fdhegl ciicl 98 bl 303 c31)

15. State Gauss’ law in electrostatics. Using this law derive an expression for the electric field due to a
uniformly changed infinite plane sheet.

fageedfads & aig o foge T 50 ffs & J=&eT aRd U Uh FAE &0 & gRafdd 3
AT e & HRUT 9gd &7 & oW T hoieh GcUedd PIaT]

16. State the principle of a potentiometer. Describe briefly, with the help of a circuit diagram, how this
device is used to ecompare the emf’s of two cells.

faqgaTdt &1 Rgia aasy| T dfhe IR & JEadr ¥ Td&T # o w5 g8 3gHor @t
3T &l Tl B SUATH & Joldl et b forw & fvar Srar B

17. Derive the expression for force per unit length between two long straight parallel current carrying
conductors. Hence define one ampere.

&l Fid_HY AR IRy gt & g ufd o dare a9 & fou Sdee getea difaw| 3a:
T UFgR 1 aRemr §ifSw|

18. (i) Write the function of a transformer. State its principle of working with the help of a diagram.
Mention various energy losses in this device.

(i) The primary coil of an ideal step up transformer has 100 turns and transformation ratio is also 100.
The input voltage and power are respectively 220 V and 1100 W. Calculate

(@) number of turns in secondary



(b) current in primary

(c) voltage across secondary
(d) current in secondary

(e) power in secondary

(i) SEHER @1 B foaf@w| R & gedr @ 386 7 aa o fbgid aastl 39 Jis 7 g
arell Affea ot fal &1 Seo@ HIT|

(i) Teh 3G TU 37U BN T WAfAD Fusel # 100 B & IAT FUAIUT IgUrd 100 &1 fAaer
dreecar AT g Afes AT 220 vaAT 1100 W gl [eafai@a o1 aRefaa Hifaw)

(a) feciaes ol 3 garar & Fear
(b) TTUTHS Pugeh & fagdury

(c) fgiaes puseh 3 dreca

(d) fechre puseh 3 Rrygaur

(e) feiae Puseh & ARD

19. (a) Deduce the expression, by drawing a suitable ray diagram, for.the refractive index of triangular
glass prism in terms of the angle of minimum deviation (D) and the angle of prism (A).
(b) Draw a plot showing the variation of the angle of deviatiom'with the angle of incidence.

(a) =gdH faaed PIoT (5,) IR Bsa &F BT (A) & T F Py soma Oea & 3madsa
Hadih P & T 3ugh for 3INE dihay Gt ¥ A1d - |

(b) 3TUA POT & TY fagerd @oT S gRdde @ arell Udh ITH JATT|
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Pl SR
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10.

11.

12.

13.

The number of atoms in a body centred cubic (bcc) unit cell of a monoatomic
elementary substance is equal to :-

T Bfad TT U PIGH H URASI BT AT Bl 8 1 7

(a) 1 (b) 2 (c) 3 (d) 4
The percentage of space occupied by spheres in a cubic close packing (ccp) in three
dimension is :

&fem # ot (e daqe H Suater I &1 fohd=r gfcrerd Tl gRT BRIl & 2

(a) 26% (b) 52.4% (c) 74% (d) 76%
Molarity of an aqueous solution containing 40g of NaOH in 2 litre of solution is -

40g NaOH, 2 <fier Stei faera # SuRerd g, faes @7 dierar g

(a) 0.5 (b) 1.0 (c) 1.5 (d) 0.75
EMF of a cell with Nickel and Copper electrode will be :

Given : E°%\**/ni = - 0.25V, E%*/cu = +0.34V

ol TAT PIR Soidels dlel Aol &1 E.M.F. farel /fear & —

E°ni’/ni = - 0.25V, B/ cu =+0.34V

(a) 0.59V (b) 0.09Vv (c) -0.59V (d) -0.09vV
Catalyst used in Haber's Process is -

TR fIfYy % ygaa SoR® § —

(a) Fe (b) Ni (c) V,0; (d) Cr
Which of the following is ore of iron (Fe) :-

(a) Haematite (b) Cassiterite (c) Dolomite (d) Bauxite
gTH A el (Fe) &l 3RRG 8 —

(@) ®erEe b)  ecIEE © Sleirge (d) CICKRIES
The role of a catalyst is to change :

(a) Gibbs energy (b) enthalpy

(c) activation energy (d) equilibrium constant

TAIRP P HRUT R 9&c1 ST & 7
@)  fret st b) s (c)fpat it d)  wge Frdis

Which of the following is independent of temperature ?

(a) Molarity (b) Molality (c) Normality (d) Formality
fafeRad # I @9 A" R iR T8 Brar 2 2

@) LIGIG (b)  Hreterar (c) AT d)  wEaa
The molar conductivityof an electrolyte increases as -

(a) dilution increases (b) temperature decreases

(c) dilution decreases (d) none of above

Jga—3uEey [gerdd @1 AlelR, ATdhal H glg BRil § ofF —

@) T+ ghg BN © (b) AUAE H HH BT ®

(© T H BHT BRI ® (d) SWRIad Bl W Bl

What.is the covalence of nitrogen in N,Os ?

N;O. & TSI Bl HEASIdhdT FT § 7

(@) 1 (b) 2 (© 3 (d) 4
Which of the following ion will form coloured compounds ?

ffaRad # 9 9 a1 emae SiE Affe ge9mar § 2

(a) Sc* (b) Mn** (c) Zn* (d) Ti*
The spin only magnetic moment of M** ion (Z = 27) is :

M* 3= (Z = 27) &1 gaa1g el 2

(a) 8.37 BM (b) 3.87 BM (c) 6.92 BM (d) 1.44 BM

Identify the oxoacid in which ‘P’ exist in +5 state :

+5 JATRNBRUT IYARAT Tl BIFHIRT B AR Dl U
(a) H3PO3 (b) H3PO, (c) H3PO, (d) H4P,0¢




14.

15.

16.

17.

18.

19.

20.

21.

22:

The process of heating the ore in the excess supply of air below its melting point is called :

(a) Calcination (b) Roasting (c) Reduction (d) Smelting
Y B ARG H AATH BT TeiD B A TH FIA DI UHAT BT B ©

@) IRESICE! (b) R (© SEDE ) PUCE
Which of the following ligands form chelate ?

(a) Acetate (b) Oxalate (c) Cyanide(d) Ammonia
forfaRad & siv—1 forits e fueie samar 8 2

@) wIee (b) 3ifrsTele © ATSS d) SEIED))

The number of halide ions in [Pt(NH;)sCl,Br]Cl will be :
[Pt(NH,)3Cl,Br]CI & BTZS 31T Bt TeT Bt -
(a) 4 (b) 6 (c) 2 (d) 1

dry ether
2CH3Br + 2Na ---------——--——- > CH; - CH3+ 2 NaBr
The reaction is :

(a) Friedel craft reaction (b) Wurtz reaction

(c) Fittig reaction (d) Wurtz Fittig reaction

p Lol s 1. Ty - — > CH; - CHs + 2 NaBr g fHfpar g :

@) WiSe Hroe srfafsrar (b) g siffshan

© HfeeT sifafba (d) gt fofae i

CH3-CH,-Br + KOH (alc) ------ > A Here *A'is

JE AR

(a) CH2 = CHZ (b) CHg'CHz'OH (C) CHZ = CH-Br (d) CH3'CH3

Butan-2-olisa :

(a) 1° alcohol (b) 2° alcohol (c) 3° alcohol (d) dihydric alcohol

T2 — 3 § —

@ 1* U Igl (b) 2 Teoblgd

© 3’ TeohIgql (d) GoTsigd Uehled
H,SO,

CHs-OH -------memeo- > A Here 'A'is :
443K

T| AT -

(a) CHZZCHZ (b) CzHG (C) CH3CHO (d) Csz

LiAIH,

CH3CHO + 2H =------—--—-——- >'A Here 'A'is :

TEf ‘AR —

(a) CH; CH,0OH (b) CH3OH (c) CHg (d) CH,

Which of the following is not a method of refining of metals ?

(a) Electrolysis (b) Smelting (c) Poling (d) Liquation
T | B O1g BT IR FR @ fafy T & 2

@) faega sme (b) PUCE © qrfef T d) ECICa



23.

24.

25.

26.

27.

28.

29.

30.

Radioactive disintegration is an example of -

(a) Zero order reaction (b) First order reaction

(c) Second order reaction (d) Third order reaction

fSaerdt fages e SR -

(@) I Bife AT BT (b) Yo pIfe arffhar &t

(©) g @ife ifaferar @t d) T pife aififsar &1

Which one of the following is diamagnetic in nature ?

ST & P IR Uiy BT ?

(a) Co* (b) Ni%* (c) cu® (d) Zn**
Transition elements are :-

(a) s-block elements (b) p-block elements

(c) d-block elements (d) f-block elements

WHAY TA B —

(@) $- i I (b) p - @ifd

© d-<iier T (d) f- wifes aea

CH;3 - CH, - | + KCN (alc.) ------------ >"'"A'. Here 'A' is

Jgf 'A'®

(a) CH;-CH,-NC (b) CH;-CH,-CN (c) CH;-CN (d) CH3-NC

Hydration of propene in the presence of dil. H,SO, gives :

g H,S0, @1 IuRfT 3 U= &1 S (Serdio) d1 IR YK 8l ©

(a) CH; - CH,- CH,-OH (b) CH3- CH(OH)- CH;
(c) CH; - CH,-OH (d) CH;-OH

NaOH (Conc.)

2CsHsCHO > C¢HsCOONa + CgH;CH,OH
A
This reaction is :
(a) Kolbe's reaction (b) Clemmensen’s reduction
(c) Friedel - Craft reaction (d) Cannizzaro reaction
YA\
2CgHsCHO +€onc. NaOH > C¢HsCOONa + CgH5;CH,OH
g afafbar &
@) dled AT (b) FANAT ST
(©) WIS—hige srfafshar d) DEIOTRT STfAfhar
Hybridisation of nitrogen atom in CH3NH, is :
CH3NH;H ATSSIS URHATT] BT HHR0T 8 2
(a) Sp (b) sP? (c) sp® (d) Spd
1° Acid amide may be converted into amine by :
(a) Hoffmann bromamide reaction (b) Claisen reaction

(c) Perkin reaction (d) Sandmeyer reaction



31.

32.

33.

34,

35.

1° tRre vaTsS @1 f sfdifshar grT v & 9qar S Aoar 2 ?
@) 2Hie SRS b)  wooH
() afdp ) FewRR

The gas evolved when methylamine reacts with nitrous acid is :-
TS I B AT Rersd Ui @ Affha dve R p—x 1 Meadi g ?

(a) NH; (b) N> (c) H, (d) CHe
What are the hydrolysis products of sucrose ?

(a) Fructose + Fructose (b) Glucose + Glucose
(c) Glucose + Galactose (d) Glucose + Fructose

GHIST & STeld fUeed I a1 IdTe g © °

@) waerel + waerel (b) TS + TfDIS

) DI + el d) T + AT

Carbohydrates are stored in human body as :

(a) Starch (b) Glycogen (c) Cellulose (d) Amylose
AT IR ¥ pEEsse fbd wa § M Y&dr g 7

@) werd (b) AT DI © ESEIE (d) IEEIE
A drug which is effective in curing malaria is :

(a) Aspirin (b) Quinine (c) Morphine (d) Analgin
U% GqT I AARIT & AT H RRER 8 &

@) THIRA (b) TS (©) A (d) GGG
Bakelite is an example of :-

(a) elastomer (b) fibre (c) thermoplastic (d) thermosetting plastic

JPege TP IETENT B i

@ SRR (b) CAREN ) emfenRe® (d) oI wRed
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MODEL SET (Hisd A< )

CLASS-XII D& - Xl
SUBJECT : CHEMISTRY fawg - TERRE
PART-II : SUBJECTIVE T - || : fawafay
EXAMINATION YEAR - 2023 gter o1 I - 2023
Time- 1.30 Hrs F.M-35

General Instructions (ITHT fAg ):

1. Candidates should answer in their own language style as far as possible.

Ttenff guriyg SOt HTIT- Aeft A IR T |

2. This question paper has three sections. For example- A,B,C. From all sections answer
according to instructions.

TAUN TS TS B | JUT: F,9,7, | 9t W F AR usi e IR S |

3. The total number of questions in section ‘A’ is.07. Answer any 05:0f them. Each question
from this section is of 01 mark.
TS ‘% T Ul Bt ol WA 07 § (UY 01 ¥ 07)1 390 gt 05 Ui &6 S | 39 WS I AP U 01 3
okl

4. The total number of questions in section '‘Bis 07. Answer any 05 of them. Each question
from this section is of 03 marks.
TS G T U B Ho TSAT 07 8 (I 08 T 14) | 370 I forgt 05 Ui F IR S | 39 TS W YD Uy
03 3H 18 |

5. The total number of questions in section ‘C" is 05. Answer any 03 of them. Each question
from this section is of 05 marks.
TS T T U B H GBAL05 7 (MK 14 T 19)1 370 I fHgY 03 w3l FIW S | 3T WS A AP UH 05
G HIE |


1.30 Hrs

F.M-35


Give an example of aerosol ?

T WA hT ISEXT ¢ :

What is metallurgy ?

gTgPHH T 8 ?

Among hydrides of group 15 elements which has lowest boiling point?

it 15 & d@l & TRSREY H e Hyid gAdH g1 | ?

How many unpaired electrons are prsent in Mn?*ion ?

Mn?3 fra ST soragt Ao § ?

What type of hybridisation is involved in the geometry of ‘square planar’ ?
“qif el Ay § fH geR w1 HaRor grn S g ?

Write the IUPAC name of :

CH; OH
I I
CHy, —— CH —— CH —CH;y —CHO
CH3 OH
I I
CHy — CH £ . CH-CH,-CHO 3T IUPAC 7 aaTt :

Write name of a disease caused by deficiency of vitamin ‘D’.
fcIfF. ‘D’ 1 S+l Y 81 aTell T SR &1 A ford |

What is order of reaction ? What is the unit of first order reaction ?
JAMATRAT BT BIfC a1 & 7 YT PIfC AMHAT HT 7195 T & 7

Write difference between Physisorption and Chemisorption.

Wi AR vd e ANy F fdw ford |



10.

11.

12.

13.

14.

15.

16.

Complete these reactions (erfafsharel T X1 BX)

Peroxide

(a) CH;-CH,-CH=CH, + HBr = -

(b) CH;-CH,-Br+ AgCN ----------mmm-- >

Complete these reactions :

TR BT T AN
(@) CHs-CH,- OH + PCls - >
H
(b) Conc. HNOs .
Conc. HiSOs *

Write three differences between DNA and RNA.

DNA TG RNA H dF iR ford |

Distinguish between homopolymer and Copaolymer. Give one example of each.

SR 3R BIUiferR § iR foRd don e & Teh—Uh IIe ¢ |

(@) What are tranquilizers ? Write one example.
Rlices T & ? Ueh SaTexvT fei|
(b) What are Analgesics? Write one example.
dTSTERT 1 § ? Ueb SaTeRUT fed |

Write short.notes on -

(a) Diamagnetism (b) Paramagnetism (c) Ferromagnetism
Wy ol ford
(@) wfgEsT (b)  erggawT (c)  chedawm
(a) Write Faraday's law of electrolysis .
fagrd suees @ forw o & foam fordd |
(b) 2 ampere electric current is passed through aqueous solution of copper

chloride (CuCl,) for 30 minutes. What amount of copper (Cu) will deposit

at cathode ?



17.

18.

19.

2 YRR #1 fIgd oaRT BR FaRgs (CuCly) & e 3 30 e 0@ varfed &=+ W fha- AmEm 4

HIIR (Cu) sadgrs WR e grm ?

Draw the structure of the following compounds :

frfoRaa AT @ e gemd —

(a)
(d)
(a)

(b)

Hs;PO, (b) H3PO3 (c) PCl;
XeO; (e) XeOF,
What is mole fraction ?

AT UYTST T 8 ?

What is the mole fraction of glucose in 10% (w/w) glucose solution.?

10% (W/w) @ISt faerae # Te[dlst &1 Aldt TSl 9T 8T 2

Identify P,Q, R, S and T in the following reactions :

fereaferRaa arfafpamell & P, Q, R, ST T &1 gam :

(a)

(b)

(d)

Socl, H,
CH5COOH >P 5 Q
Pd - BaSO;
(i) cl,/Red P
CHsCH,COOH e > R
(ii). H,O
0]
| Zn-Hg
[0/ Y o o ¥ R >'S
HCI






IRWUS Q& ST TS UfRiermr alkee, <t

MODEL SET (HISd I¢ )
CLASS-XII PHET - XII
SUBJECT : MATHEMATICS fawg - 7iford
PART-Il : SUBJECTIVE YRT - || - fowafag
EXAMINATION YEAR - 2023 TRY&l &7 98 — 2023
Time -  1.30 Hrs G -  1.30Hrs
Marks : 40 3 : 40

General Instructions (HTHT ﬁﬁ'ﬂ ):

1. Candidates should answer in their own language style as far as possible.

et Uiy gt HIYT- A A IR S |

2. This question paper has three sections. For example- A,B,C. From all sections answer
according to instructions.

YUY UF & dIF TS © | IUT: 5,87, | it Te q AR usii & IR < |

3. The total number of questions in section ‘A" is 07. Answer any 05 of them. Each question
from this section is of 01 mark.

@i—s’;ﬁuﬁﬁgﬁrmm%mm ¥ 07)1 395 ¥ fasgl 05 Ui & ¢ | IS U TS UH 02 3l
F1e |

4. The total number of questions in section ‘B" is 07. Answer any 05 of them. Each question
from this section is of 03 marks.

Te @ T Ul & H -1 07 § (IF 08 T 14) | TTH A BT 05UH F IS S | 3T TS I TP UH
03 3FHHE |

5. The total number of questions in section/C' is 05. Answer any 03 of them. Each question
from this section is of 05 marks.

G‘s"ﬂ'%mﬁﬁﬁmosémmﬁwn S8 9 forgl 03 Ul TR € | 3H TS W YD UH 05
3H BIE |

Section-A (@€ -¥) (2% 5=10)

1. If f(x)'= 8x3and g(x) = x /3, find gof (x).
TR f ()= 8x3 T g(x) = x /3,4 gof(x)sma F |

2.  Provethat (g #%):tan™! % +tan~?! % =tan~!

N |

. dy 2
3. Find i If y = sin(x“ + 5).
da
afX y =sin(x? +5) ar d_ic] AT e

4, Find the rate of change of the area of a circle with respect to its radius ‘r’ when
r = 4cm.
Page - 01


1.30 Hrs
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10.

11.

12.

13.

14.

A F AARA [ TGAT I ¢ TG HAT 6 GI9e A1q Do Ifd B=ar r = 4em
2l 1.2

Evaluate (ATF SITd BIFST): j—(ﬁ_\/_}) dx.

If a line makes equal angle with the x, y and z- axes, find its direction cosines.

Ife UF @1 X,y ¥ z-9eT & AT ATHE FHO FAE @ AT THO! (QH-HEEd AT
Frfora

Evaluate P(4 N B), if 2P(A) = P(B) = 5/13 and P(4/B) = 2/5.

P(A N B) w3 fifkrafy 2P(4) = P(B) = 5/13 &= P(4/B) = 2/5.

Section-B (@7S-9)) (3% 5= 15)
By using the properties of determinant show that (FT<fr® # TUrgd T SAET FF
g fifm):
1+4+a 1 1 1 1 1
1 1+b 1 =abc(1+—+3+—)
1 1 1+4c @ ¢

Test the continuity of the following function at the point x'= 0,

Fraferfe) wom F Arger & 9= g x =097 |

sinx
—,x <0
ﬂm={x
x+1, x>0
3x+5
Evaluate (A9 SITa@ HIfSTQ): j 4 dx.
x3 —x2=x+1
/2 Vsinx
Evaluate (AT-T SITd difoTg): dx.

0. Vsinx ++cosx

Solve(ger #%): ydx — (x + 2y?)dy = 0.

If @=2{+2j+3k, b =—1+2j+kand€ =30+ jaresuchthata@ + b is
perpendicular to ¢’, then find the value of A.

TR @=20%2+3k b =—1+2j+k dwC=314+] m wrEHF T +1b,C
U g g, ArA F AW S Hi

Suppose a girl throws a die. If she gets a 5 or 6, she tosses a coin three times and
notes the number of heads. If she gets 1, 2, 3 or 4, she tosses a coin once and notes
whether a head or tail is obtained. If she obtained exactly one head, what is the
probability that she threw 1, 2, 3 or 4 with the die?

Page - 02



15.

16.

17.

18.

19.

A A AT Fle A0l TFH I0E7 Il gl I« IH 5 AT 6 0 §&AT I grarl g af
Ig TH ¥ F 9 q I[JraAar g i ar A g T qie #@dr gl Jfe 59 1,2,397
4 #F HEAT UTH Bl g a7 9g UH Heh F UF a1 IEdl g A Tg A wl g &
9 9 @ AT 9 YT el Afe S AT uE Ha W gar € v SEd g0 Serd U
IE " 9T 1,2,3 AT 4 UTH B AT ATEHAT FT 82

Section-C (@IS-9) (5x3 = 15)

Solve the following system of equation using matrix method.
) ATE AT AN w2 [uftag g6/ [ &7 ga )
S5x+3y+z=16
2x+y+3z=19
3x + 2y +4z =25

Find the maximum and minimum value of the following function

% woq Fefofed) stfesman qom ~Aaq a9 ST w
f(x) =2x3— 15x% +36x + 11

Find the area lying above x-axis and included between.the circle x? + y? = 8x and
inside of the parabola y? = 4x.

X-FF F FAL JAT g9 x2 + y? = 8x U AT y2 = 4x F weAadi &= F G
HARA o |

Find the shortest distance between the following lines:

T =14 2] — 4k + A(21 + 3] + 6k)and.7” =81+ 3j — 5k + p(21 + 37 + 6k).

T =142 — 4k + (21 + 3j+ 6k) R 7 = 31 + 3j — 5k + u(21 + 3] + 6k).

Solve the following LPP graphically:

Maximize Z = 50x +15y
Subject to constraints:
5x +y <100
x+y<60
x,y = 0.
ey fafsy | =1 YRgdw I e TR BT B DINTT:
7 =50x 4+ 15y 3MfEHTHI®RT HIfoT,
Sidfdh 5x +y < 100
x+y<60
x,y = 0.

Page - 03



IRQUS Qe ST TS Ufiermr aRee, <t

MODEL SET (Hisd I<)

CLASS-XII &l - X

SUBJECT : MATHEMATICS fawa - Tfora

PART-| : OBJECTIVE URT - | agE

EXAMINATION YEAR — 2023 & T T - 2023

Time- 1.30 Hrs JHT - 1.30Hrs
Marks : 40 3P : 40

General Instructions (9T A= ):

1. Write your Name, Roll Code, Roll No. Registration No., Date of Exam., Sitting, Faculty and Name of
the Subject on the OMR Answer Sheet in the space Provided. Put Your Full Signature on the OMR
Answer Sheet in the space Provided.

MY e a1, AT BIS, INgHAID, Uollee I, udem at fafr,ureh, famer den v &1 smer OMR 3w

Uz # &t o8 ofere W ot 3 e gRr &g OMR 3IR-Usid A & 918 _oielE U Bl

2. There are 40 Multiple Choice Questions in all.

g 40 ag-fasedr e F|

3. All questions are Compulsory. Each question carries 1 mark.

Fef uear iferard E 1 UA® U 1 3id B B

4.Four Options are given for each question. Choose the most suitable option and indicate it by
blackening the appropriate circle [ *] in the OMRAnswer Sheet given separately.Use only Blue/Black
Ball-Point Pen. The use of Pencil is not.allowed.

TE U # IR ey R o ) Fed A I 0P bew g I/ ser F Y gv OMR 3w
UAFG U FE Mt BN Hell BT [o] IR B Jaa BT | Al A1 FHlel Aa-wige BAHA BN A YT B |
e &1 witer afsfa 71

5. Before leaving the examination hall hand over the OMR Answer sheet to the invigilator. You are

allowed to take the question paper with you.
T oael Bisa A Ueer OMR 3ITR Woicp dieies i citer Siforr | U9e-usl 3T 319d AT o o Jebd & |

Adhere to the instructions above very carefully otherwise your OMR Answer Sheet will be
invalid and will not be evaluated.

FHWR aflg ol & eaeyde Uiee BT 3eTe 3MUHET ITR UAG AT BN AR IFB! Sifg Fét
Pl SR
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1. Let A={2,4,6,8} and R be a relation defined on A as R= {(2,4), (4,2), (4,6), (6,4)}, then R is

a) reflexive b) Symmetric c¢) transitive d) None of these
A f5 A ={2,4,6,8} 721 R ={(2,4), (4,2), (4,6), (6,4)} ¥9==a A & uR¥I¥T t& Heel & a1 R &
a) [Wge b) w=faa C) HshTHH d) s & @iy Tl

2 . IfA={a, b, c}and R={(a,a), (a,b), (a,c), (b,c)} be arelation on A, then R is
a) Reflexive  b) Symmetric c¢) Transitive  d) None of these
afs A={a, b, c} @ R={(aa), (a,b), (&), (bc)}) AR v Hag 2 AT R & |
a) [Wge b) w=faa C) HshTHH d) s & ®ig Tl
3. The function f:N = N defined by f(x) = 2x is
a) One-one but not onto
b) One-one onto
c) Onto but not one-one
d) None of these
% f: N> N @ aRarfva g f(X) = 2xar f 21
a) TS offdh IMeeIed ol
b) td® BEH
C) 3IBIGH olfchl Ybdh ol
d) s 9 318 T
4. If R being the set of all real numbers, then the function f: R — R defined by f(x) = |x] is

(a) one -one only
(b) onto only
(c) neither one-one nor onto

(d) both one-one and onto

Ife R arafas dvemsit o ageaa 8 a1 %o [ R > R, f(x) = |x| gRT uRwfya 2 & f 2

(@) I BB

(b) Hacl ITBIEH

(©) T Uhd T ATBIEH
(d) Udhd Td ATBIEdh QAT

5. If f: R> R, defined by f(X) = 2x+7 then £~ (x) is
Ify f: ROR, f(X) = 2x+7 gRr aR¥ifda 2@ £~ 1(X) &1 =19 |

a) =7 b) 7x#2 == d=-
6.) Cos‘l%§ + Cos‘% is equal to
Cos'1§+ Cos‘% IR 2 |
a) 0 mg Qg d)Z

7.Sin [tan‘l(—\/§) + cos™? (— g)] is equal to
Sin [tan‘l(—\/g) + cos™?! (— g)] ENEESS
a)l b) -1 c)0 d) None of these (57 &1 @15 -151)
8. %Cos'l (1;’6) x € [0,1] is equal to

+x

%Cos‘l (T—x) x € [0,1] sRreR &

+x

a) Sin™Vx b) 2Cos™V/x ¢) tan™Vx d) 2tan™/x



9. tan’'= +tan |sequal to

tan™L + tanZ w2
4 9

a) tan'11 b) tan'li3 c) tan'lg d) tan"'7
X 7 14 .
10. If 2[ 3] [ 15 14] then values of x, y are respectively
34 7 14 —
ﬁ2[7 y— 3]+12 15 14] T Xy 7 P T
a)29b)92c)29 d) -9, -2
11. IfA = ; i and B = [ ]then AB is equal to
1 3]
af A= [_271_62418—[_11]6ﬁABW%"
ol ol e[eur
12, IFA = é i then (adjA) is
12 :
afe A= [3 4]6# (adjA) &

) ol w7 ol o5
13. Points (a,0), (0, b) and (1,1) are collinear if

a)i—lzl b)l—izl c)1+1:1 d) None of these
a b b a a b
fag (a,0), (0, b) wd (1,1) &¥= &, afe
) L-1=1 b)1—2=1 Oc+y=1  d)sri & o
14. Given function f(x) = |x — 2| is continuous but not differentiable at

ayx=0 b)x=2 c)x=-2 d) None of these
fem ar wer f(X) = |x — 2| Had § Ry Srader A8 R |

a)x=0 b)x 2 c)x=-2 d) s & FIE T

15.) If y = Sin® then Y is equal to
tr%y—Smxaﬁzzem—eR%
a) 3Sin2x b) Cos3x ¢) 3Sin®x. Cosx d) 3Cos?x. Sinx
_ -1 1-x2 d_y .
16.If y = Cos (1+x ) 0<x<1then —=is
ARy = Cos™ (1= ) 0<x<1 dr 2 & 2
2 -2 1 —1
a) 1+x2 ) 1+x2 ©) 1+x2 ) 1+x2
17.) If x+2y = tanxdhen =2 is

afe x+2y = tanx @ Z—z%\'
a) tan’x b) Cot’x

tan®x ,\ sec’®x —1
C) > d) —
18. Ifxy. = x3+y’ then |s equal to

aﬁxy_x+y Fﬁdxél’\’l’sl?%
a) L) X2y ¢) X3 d) None of these (g7 & @1$ )

x—y2 x—3y2 x—3y2
19. Slope of the tangent to the Curve xy = 6 at (1,6) is
g Xy = 6@ fag (1,6) W w2l Y@ 9 o ®
a) -6 b) 6 0) < d) —=
20. Slope of the normal to the Curve y = x> — x at x =1 is
ab Yy =X —X B fag X =1 W aAficig B yqorer §
a)-1 b) 1 c) -2 d)2




dx .
2. | ———— | I to :-
fsinzxcoszx Sequalto

fd—xwa -

sin? x cos? x

a.tanx + cotx + C b.tanx — cotx+ C

c. tanx cotx +C d.tanx — cot2x + C

sm X COS X
22. dx isequal to :-
fsmzxcosz q

dx R -

f sin? x — cos?x
sin? x cos? x

a.tanx + cotx + C b.tanx + cosecx + C
c. —tanx + cotx+C d.tanx+ secx +C
dx

23. fmdx is equal to :-

[—Z  RRE -

x2+2x +2
a.xtan l(x+1)+C b.tan"!(x + 1) + C
c.(x+1Dtan"tx+C d.tan x4+ C

xdx .
24, fm equals to :

[—2 R T -

(x—1)(x-2)
_ 2
a. log| =X ” |+ C b. log| === | + C
c.log C)? | +C d.log|(x — D(x —2)| +C
25. ff
V3 dx WERE
fl 1+x2 % a
D b. 22 .= d. =
3 3 6 12
. . . 2d%y dy -
26. The order of the differential equation 2x oz 33 +y =0is:-
a.2 b.1 c.0 d. Not defined

2
ST AR 1222~ 32 +y =0 B E -

dx

a.2 b. 1 c.0 d. 3MaRHIRd



27. The degree of the differential equation ( 73 + ( )3 + sm + 1=0is:-

a.3 b.2 c.1l d. Not defined
&Wﬂtﬁwm(dxz) ( )3+sm X +1=0PIUCE -

a.3 b.2 c.1 d. 3R
28. Solution of the differential equation Z—z =e

ay=e*+C b.y=e™+C c.x=eY+C d. None of these

WW%=&${€H%:-

ay=e*+C b.y=e™*+C c.x=eY+C d.ﬂ?ﬁ@ﬂﬂgﬂﬁ

andb =1+ +3j —4 k, then magnitude of d@ + b is equalto :-

?T‘)

29.1fd =20+ ) —

+3j—4k A d +b PIAUDS :-

~>

a¥d =20+j—kau b =

V5 2

30. The projection of 1+ 3j +k on2i — 3} + 6k is =

1+ 3f +k @1 21— 3j + 6k WUAUS :-
a.- b. — c.7 d. -7

7 7
31.1f |d|=3,|b|=4and |d%b | =5thenthe value of |G — b | is :-
gfe|d|=3,|b| =474 |@+b|=5a|d—Db|PTAAE -
a.6 b.5 c.4 d.3

32.1fd x b =0andd’.b = 0, then choose the correct option in the following .

& dxXb=0aUT G .b=0 AT AITE HFYT I |

S
Il
o
o
Qu

a.d Lb b.dll b c.d =0and

=0or

Sl



33. The direction cosine of the line joining (1, — 1, 1) and (—1, 1, 1) are :-

1 -1

a. 2,—-2,0 b.1,—-1,0 C.E,E,O d. None of these
fagaft (1, — 1, 1) AU (—1, 1, 1)@ FAemare a1 &t fow- S g -

a. 2,-2,0 b.1,—1,0 c.%,:/—;,o d. 3T I BT T
34. The equation of Y- axis are :-

a.X=0,Y=0 b.X=0,Z=0 c.Y=0,YZ=0 d. None of these
y-G{&fWﬂ'mW%Z-

a.X=0,Y=0 b.X=0,2=0 c.Y=0,YZ=0 d. $99 9 B3 6t

35. The distance of the plane 2X - 3Y + 6Z + 14 = 0 from the origin is :-

o g I THAA 2X -3Y + 62 + 14 =0 DI G 5 :-

a.2 b.4 c.7 d. 11

36. If Aand B are any two events such that P(A) + P(B)~— P(A N B) = P(A), then choose the correct
options from the followings .

gfe AquTB A A geE € B P(A) + P(B) —P(AN B) = P(A), I FE A A T BUT T |
a.P(f)=1 b. P(g) =1 ¢ P()=0 d. P(g) =0

37.1f Aand B are two events such that P(A) =04, P(B) = 0.8 and P() = 0.6 then P(5) is equal to :-
afe A qo B 21 T He @ i P(A) = 0.4, P(B) = 0.8 AT P() = 0.6 T P(;) RISR & :-

a.0.3 b: 0.4 c.0.5 d.0.6

38. A dice isthrown 6 times ./If “ getting an even number ‘ is a success then the probability of getting

5 success'is :-
3 7 63

a.— b. — c.— d. None of these
32 64 64

TS UM 6 9R Thepl ST 8 | A T gH TS 3111 * IheAdl 81, af 5 IR IherdT fob Ui & -

a. = b. — 2 dﬁﬁﬁﬁ_gﬁ

32 64 64



39. A chance of getting doublet with 2 dice is :-
A IR & B T ShsT U s wiean § -

d.—

b.
36

wlN
o R
o lu

a. C.
40. Let A and B are two events such that P(A) = % ,P(B) = % ,P(ANB) = % , then P(g) is equal :-

T 6 A 3R B & gemd € aife P(A)=§,P(B)=%,P(AnB)=%,FﬁP(§)W%:-

d.

b.

Q
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Time- 1.30 Hrs , F.M-35
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- W ust & IR Srfvard g1

- PA 35 UH Tl

. % Uy & fore 1 s Aruffya g1

. Ud® U4 & IR faopey i3 e €1 ) Ay &1 994 Fifvm|

- TAd SR & AT I3 3ip T8) BIe S|

1. Which of the following is known as ‘Father of Genetics’?
o & & feg “engatardt &1 foqme’ w1 Srar 82
a) Mendel (H=)
b) Johanson (STIgT=E)
¢) Hugo de Vries (E‘{Fﬁ EIREED)
d) Tsheremak (9TTHF)
2. Which one of the following statement(s) is/are not correct with respect to Genetic code?
e & ¥ F9 97 FI9° AqEtaE FeoF O qaw T84o8?
a) The code is triplet.
RUSIEENS CAEEIE
b) It is specific and unambiguous.
7z fafere qum swfeer g@r e
¢) The code is universal.
Tg FAT=F rar 2l
d) None of the above.
SUE H " AS el
3. Which of the following is an Example of Active Immunity?
T ITACeAT o IR MH | | &l 82
a) Vaccination (STTHT)
b) Colostrum (FEAEEH/FT)
¢) Réadymade antibodies (I TATT TTa<ef)
d) All (@)
4. A condition in which a plant contains both the Male and the Female reproductive organs, is termed
as:
g afa SEH TF 9reT 9¥ 997 HIET S99 9F AT S A7 @Al 8, FeArdl B
a) Monoecious (Iﬁ?ﬁﬁ'&r\q)
b) Dioecious (gTiﬁﬁW)
¢) » Heterothallic (%i%r@ri%m
d) Unisexual (@%"ﬁ)

5. Cell Mediated Response is associated with :
FITRART TILAT STTHAT HT el &
a) B- Cell (I1.- FrfarT )
b) T- Cell (. - FIferFT &)
¢) C- Cell (Hi- FIforrT ¥)
d) - cell (3EHT - FITAHT T)


Time- 1.30 Hrs

F.M- 35


6. Interferons are secreted by............ .

TETETAFTETT .o % T 2T 2l
a) Bacterial infected cells (STAT TefAT FIforHTT)
b) Fungal infected cells (Fae HeR{HT FHITAFTT)
¢) Protozoan infected cells (STETSTIA oA HITAHTT)
d) Virus infected cells (ﬁ'NTUI TR AT FITAFTT)

7. Tumour is/are: & ATEqT H:
a) Group of cells who have lost the property of Contact Inhibition
(ST FHITAFTAT 7 T SH FEqel HTHA A7 07 FHH 21 TAT §1)
b) Group of cells having property of Contact inhibition
(Y FTfAraRTS T T AR Heqel HEHA T 0 7iE 21)
c¢) Group of cells having specific function
(Freft fararer et g FITRrTSA 7 99E)
d) Group of cells having general function
(ATHTT FT % HATAT g HIAFT FT THE)
8. The term ‘Codon’ is associated to:
gz “wreH Fw § ° & gafaa €2
a) t-RNA
b) m-RNA
c) r-RNA
d) c-DNA
9. The process of Replication proceeds in the direction of ... ..u....f. .. .

giagtaa &t gt e § ¥ & KA g 22
a) 5-3
b) 3 -5
c) 225
d) 5—-2
10. Synthesis of DNA molecule from RNA molecule is termed as :-

ALTAT A F SLUAE, A9 % AHpor &t stmar B am & S ST 82
a) Transcription (SIqT@T)
b) Reverse Transcription (e grafea)
¢) Translation (TaT<)
d) Replication (TTaHfaaT)
11. Which of the following pair is not correctly matched?

e & 7 #3781 W "E qAfT @2

a) Menarche: The first menstruation at puberty

TR TqH qIHE =T

b) Menopause: Cessation of menstrual cycle

TG : FIATT T &8 g1 AT
¢) Corpus luteum: Remaining part of Graffian follicle after ovulation
FIHE AMAN: FS(EA & TATT@ JTRI TeF F1 a97 g fgear
d) None of the above
o # A A
12. Any substances that can cause Cancer, is called.....
I Terd ST FET IO F AR §, FEATT B
) Carcinogens/FHTST
) Oncogenes/ TSI
c) Metastasis / HeTE&H
d) Metamerism/ HeTH=q

a

o



13. Morgan worked on:-
AR A e # 7 o a2 e e
a) Fruit fly
AT
b) House fly

¢) Honey bee

HeHFET

d) Dragon fly

A

14. There are 64 codons in genetic code dictionary because:
AATAF Fe MeTaAT § 64 THe A &, T,
a) There are 64 types of t-RNAs found in cell.
UH FITAFRT § 64 THT F t-RNA T ST &
b) There are 44 meaningless and 20 codons for amino acids.
T UEEl H T 44 TFe AR Fath 20 Ve AT T Ry erfEn e A wfed
FT B
¢) There are 64 amino acids to be coded.
T AT 64 STHAT o+ 1A &, e Ffeqd FAT grar @l
d) Genetic code is triplet.
EEIRE CA LU
15. Metastasis means:-/HaTEEH & qTeTT 3:-
a) spread of tumour away from their origin
et Rorfer Foredt st sy et w71 & g1 o971 o TEd
b) confination of tumour to the site of origin
et Rurfa e 19 o &t #979 a% &f 9iHd
¢) enlargement of a cell in size
Toreft TRt o T § srcateE dis
d) Degradation of a cell

et snrforeT T &7 BT
16. The technique of DNA fingerprinting is applicable in

1.0, 1, Tohar FTET aeretten &7 STRT (iR & & ey -forer & & o ST |erar 22
a) Field of Forensic Science
(FTIA AT 983 o (T JTH e S H)
b) Genetic biodiversity

€ REIREACIEREL)

c) Evolutionary biology
(EEICIRISIZIEEILY!
d)" All of these
(ST T9T)
17. Which of the following is not a Sexually Transmitted Disease?
MEifFT & § F9-97 A0 TF A FA100G T T@l 82
a) Hepatitis B (ZUeTsfed o)
b) Gonorrhoea (F<TTh)
¢) Typhoid (3= F9X)
d) Syphlis (Fr&fem)
18. Which genetic disease is caused by Trisomy of 21+ chromosome?
TAH F A9 TN SHES (21) O AT o6 FH0T grav g2

a) Klinfelter’s syndrome

e gy



b) Turner’s syndrome
T g
¢) Down’s syndrome

=req figw
d) Phenylketonuria

19.DNA — DNA — RNA — Protein
The flow of genetic information in the form of above presented chart will be termed as:

YL AT ATE H/H AR | Taia a2, e § & For-fore 1 gerfare?

a) Replication, Transcription, Translation (Elﬁ'fﬁ'a_rf, 31‘:1@'@?, AqATR)
b) Replication, Translation, Transcription (Elﬁ'fﬁ'a_rf, EREIE Eﬂﬁﬁ'@? )
¢) Transcription, Translation, Replication (ﬂ‘jﬁ'@? , AT, SlﬁTﬁ?Trf)
d) Translation, Replication, Transcription (q4T<, QﬁTﬁ'ﬂWaﬂﬁ'@?)

20. The ‘ori’ site is related to (“STIFfd FT &I FTHaer 7w & & FFEE.22)

a) A unique sequence where replication is initiated

T AT STgl & T d T LL&eTd grat &l

b) The region where the DNA replication is terminated

g T gl | TTAFid THE gl gl
¢) The region where Transcription is initiated
g T STl § T il [HAT il gl
d) All of these
EXRLE]
21. The transfer of characters from one generation to another is.called:
TR TT R N g G M ST S h A TR g AT g |
a) Inheritance (9T
b) Heredity (STATAFAT)
¢) Variation (fafareram)
d) Mutation (IeTRATT)
22. Fertilization takes place at/in
o= it afehaT F@ifea & & #9999 v 82
a) Ovary (S9M)
b) Uterus (T2
¢) Isthmius (FFToT92D)
d) Ampulla(gfe=m)
23. Human Blood group is an example of:-
‘HiFa vh a9 e § | frEEr e 22
a)  Co-dominance
qg-gHTiaar
b) Multiple allelism
FgAATAAT
¢) Both ‘a’ and ‘b’
IULH FAL
d) Incomplete dominance
AL AT

24. Which of the following pair is correctly matched?

e & & &9 @1 W & gata 82
a) Dihybrid cross (Phenotypic ratio): 9:3:3:1

faee (amedt sqaTe) $9:3:3:1
b) Monohybrid cross (Phenotypic ratio):3:1




THA HHL  (VTEAT STT) = 3:1
¢) Monohybrid cross (Genotypic ratio): 1:2:1
UHA HEFT  (ATGATAF AqOTa) :1:2:1
d) All of the above
SULE qHT
25. ‘Chromosomal theory of inheritance’ was proposed by:
qUESA F AT Fgia s g afautea fEr T an
a) de Vries
EIREE]
b) Mendel
Hee
¢) Carl correns
FA B
d) Sutton and Boveri
gred T Fradr
26. The coding sequence or expressed sequence in m-RNA, are definedfas
(T% m-RNA FTHITSTTIHAFEATATE)
a) Exons
Fh
b) Introns
ELaTD

¢) Cistrons

A

b

d) Positrons
TSI
27. Snapdragon exhibits. ..

WIS Y=feT FAT g

a) Codominance
EEEEUEG

b) Incomplete dominance
EPUREIEG]

c) Epistatsis
e

d) Pleiotropy

LRI
28. ELISA is a diagnostic test for which disease
ufeEmr wT AT e aheer F oo G STar 82
a) Malaria

HATAT
b) Cancer
FOT
¢) AIDS

UgH
d) Typhoid
29. Cirrhosis’ is related to:-

ez R g ERaRe?
a) Lungs (FF2.)

b) Kidney (9%)

¢) Brain (AfeqTH)




d) Liver (I%)

30. Crosses between F, offspring and either of their parents are known as
FHafd T 39+ M1 A foar § & Bt v & 9 9960 1 #7147 Fgd 82
a) Inbreeding (ITANF TST7)
b) Back cross (I #TH)
¢) Dihybrid cross (fGH®FT FT)
d) Test cross (TTX&Td HFT)
31. The Functional Unit of Inheritance is :

FormTta T SHTE &

a) Gene (Trﬁ_rf)

b) Chromosome ([UTE)

¢) DNA (31.u.1)

d) All of these (STLHHHT)

32. In a DNA molecule, which of the bond is found to be present between the two
NITROGENOUS BASES

T AuAT § AN I ATSINHAIGT AT F HeT UTT SO dlel See AT e qTH F

T ST g |

a) Phosphodiester bond (FTERT-STH-TETT ATe)

b) Glycosidic bond (FATTFRITATSH Tarer)

¢) Hydrogen bond(ZTESISIT &)

d) Peptide bond (T=TZE 3ATaer)
33. The Unwinding of DNA is catalyzed by:-

TUAT F TAT ToH F JAHET A AA-AT IOF (TSATEH) TgTF 52

a) Helicases (ZferseT)

b) DNA Polymerases (S1.0F.T , TT{erH<T)

¢) Topoisomerase (ZTATATSHTHLS)

d) DNA ligase (ST.09.0 HTZ)
34. Central Drug Research Institute (CDRI) is.located at

FarT sfufer SqEaT. 5T Fgl. AareTd g2

a) Delhi (fa==tt)

b) Kolkata (FIFHIAT)

¢) Lucknow (FT@3:)

d) Ranchi (=)
35. The term “‘Genome’ refersito

ST greg AT Hag 0w § | Fed 82

a). The complete set (2n) of chromosomes inherited as a unit from both the parents

TRt Sfiten & 3= wTaT-foaT & 9TH T PEEAT FTOFHE (2n)
b) The complete set (n) of chromosomes inherited as a unit from one parent.
et Sfter ® 377 ATar-foaT § & FFft va & 9T T oAt FOAE (n)
¢). Both (IUI<harT)
d) None of the above (STT<F & & s T-l_gpf)

ge-B TIME- 1.30 Hrs , F.M- 35
I. Answer any five of the following questions in a sentence. (5x1=5)
Raffag vt & & & o= &1 S aw § o

1. How many types of reproduction occurs in organisms?


TIME- 1.30 Hrs , F.M- 35


ITI.

siat ® S99 fohde Y& #T AT 82

What is Lac operon?

S ST T 32

What is an oncogene?

AHE ST FAT B2

which vaccine is taken for Diphtheria, Titanus and pertrussis?

Refifa, e 3 ggwErh & o sm-a1 = awEm =R

Mendel conducted his experiments on which plant?
T o 9= T o forw B3 over =1 =g+ Framam?

What are antibiotics?
gfasites T 82
Expand IUCN.
are. g H.ua. w7 T Aam o
Answer any five questions in brief.
RuffemEa=enesawERmdtE  (5x3=15)
What are differences between back ctross and test cross?

IF FE TF ¥ KA H FAT dwdT g2

. What do you understand by the central dogma-?

oo o1 FdT SrmfrEta = g

What are differences between homologous and analogous organ? Give example.

TASTT A0S AHHSATT S § FAT 3=a¢ g2 I 4
Describe various types of antibodies with their respective functions.

=y & gfaver w1 Fwr afgg |@fe aue w37

Which gases consists of a mixture of Biogas ?

FrnE 5 T F e 7 oaer g

. Fill'in the blank.

CIEISFIET LS
i) The Pyramid of ............. is always upright.

............ w1 forfie gRem @tear gar 21
ii) Gas leaked in Bhopal gas tragedy was...........



iii) AIDS stands for..............
TS, LU AT T ATH v

7. Match the following:-

Fefofaa &1 ffem w7 -

i)Plasmid (=Ts¥e) a) Cleaves DNA
OT.T.F qreAm
ii)Restriction enzyme b) Gene transfer
CISEEEIRUE IR (ST9 ETTaeor)
iii)Agrobacterium tumifaciens | c) Extra chromosomal
(TR qHEREH) DNA (T #¥EEa .109.7.)

lll. Answer any three questions in detail.
Puffe & F @9 = #1 s B @ gl (3x5=15)

1. What is ozone layer? Write effect of air pollutioen on ozone layer
depletion. How will the earth be affected if the ozonef layer is
lost?

SN TRA T g2 3SIH IRd & &% B | a1g UGVl SEUHTE fole | R SfiSiiF tRd
q B Sl gedt TR 3BT T YT TS
2. Explain polymerase chain reaction with diagram.
gt e sifNfshar &1 gfes gufaaR |
3. Describe the DNA replicationf{with help of a diagram.
.97 ¢ ufdwfaa &1 i auH &2 |
4. Describe Mendel’s monohybrid and dihybrid cross.
Hed F UF HFC HE UG {GERe T w1 G9=md)

5. Give an dllustration account of the process of fertilization in
angiosperms.

Todi aiet § e A G s gt avE i



ANSWER KEY OF OBJECTIVE QUESTION, CLASS 12,

SUB. BIOLOGY

1-a 11-d 21-a 31-a
2-d 12-a 22-d 32-c
3-a 13-a 23-c 33-a
4-a 14-d 24-d 34-c
5-a 15-a 25-d 35-b
6-d 16-d 26-a

7-a 17-c 27-b

8-b

9-a

10-b




